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J—F & & A B C |ABUME) F—2 k%) B =
66160/| SD—13 1 4.2 13 5004 |20/MEA| 1=v0O
66161/| SD—16 1 4.2 16 5004 |20/MEA | 1=v0O
66095/| SD—19 1 4.2 19 5004 |20/MEA | 1=v0O
66096/ | SD—25 1 4.2 25 500& [10/MEA | 21=/0O
66097|| SD—32 1 4.2 32 3004 |10/ MEBA | 1=/0O
J—F & % A B C |ABUME) T—2 (k%) # =
66162/ | SSD—13 11 4.2 13 500& |20/1\f5A | SUS410
66163|| SSD—16 1 4.2 16 5004 |20/1\f5A | SUS410
66170/ | SSD—19 1 4.2 19 500& |20/1\f5A | SUS410
66171| | SSD—25 11 4.2 25 5004 |10/IMEA | SUS410
66172/ | SSD—32 11 4.2 32 3004 |10/ fEA | SUS410
a-—kK & % A B C |ABUME) -2 (k5 # =
65073 SON 5.5 35 22 10004 [20/MvBA | =70
65073200| |[SONZ& AN | 55 35 22 |200F%/% — a1z=40
66135 SON—L32 | 5.5 35 32 5004 [20/\EA | =70
66135200) 53N, %% | 55 | 35 | 32 |200k/% — | 2=um
a—K & % A B C |ABUME) T—2 (K5 B =
66136] (Sanr; " 55 | 35 | 22 |00k % — | KTAh
66137) Q%7777 55 | 35 | 22 |00k | —
66138] |39t 2y | 55 | 35 | 32 |200%/%| — | &TAk
66139 S9N, %2 | 55 | 35 | 32 |200%/% —
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